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Time : 3 Hours ] [ Maximum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) There are 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Question Nos. 1 and 2 are on filling Outline Maps of the World and India

respectively. Each question contains 4 test-items of very short answers of

1 mark each.

(v) Question Nos. 3 to 6 are very short answer questions carrying 1 mark each.

Answer to these questions should not exceed 30 words each.

(vi) Question Nos. 7 to 11 and 21 & 22 are also very short answer questions

carrying 2 marks each. Answer to these questions should not exceed

60 words each.

(vii) Question Nos. 12 to 15 and 23 & 24 are short answer questions carrying

4 marks each. Answer to these questions should not exceed 100 words each.

(viii) Question Nos. 16 to 20 are long answer questions of 6 marks each. Answer

of each of the questions should not exceed 140 words.

(ix) Use of templates or stencils for drawing outline maps in illustrating your

answer is allowed.

(x) Answer of Question Nos. 21 to 24 should be given from any one of the

Options.
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{ZX}e : (i) ‡ÌZm| H$s Hw$b gßª`m 24 h°ü&

(ii) g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ {ZYm©[aV AßH$ {XE JE h¢ü&

(iv) ‡ÌZ gßª`m 1 Am°a 2 H´$_e:  gßgma Am°a ^maV Ho$ aoIm_mZ{MÃm| Ho$ ^aZo na hß°ü& ‡À òH$ ‡ÌZ _| A{V
bKw-CŒmam| H$s 4 narjU-_X| 1-1 AßH$ H$s h¢ü&

(v) ‡ÌZ gßª`m 3 go 6 A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ H$m 1 AßH$ h°ü& Eogo ‡À òH$ ‡ÌZ H$m CŒma 
30 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vi) ‡ÌZ gßª`m 7 go 11 VH$ Am°a 21 VWm 22 ^r A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 2 AßH$
h¢ü& BZ_| go ‡À òH$ ‡ÌZ H$m CŒma 60 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vii) ‡ÌZ gßª`m 12 go 15 Am°a 23 VWm 24 bKw-CŒmar` ‡ÌZ h¢, {OZ_| go ‡À òH$ Ho$ 4 AßH$ h¢ü& BZ_| go 
‡À òH$ ‡ÌZ H$m CŒma 100 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(viii) ‡ÌZ gßª`m 16 go 20 VH$ XrK©-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 6 AßH$ h¢ü& Eogo ‡À òH$ ‡ÌZ H$m
CŒma 140 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(ix) AnZo CŒma H$mo ÒnÔ> H$aZo Ho$ {bE aoIm_mZ{MÃ ~ZmZo Ho$ {bE gm±Mm| `m ÒQ>|{gbm| Ho$ ‡`moJ H$s AZw_{V Xr 
OmVr h°ü& 

(x) ‡ÌZ gßª`m 21 go 24 VH$ Ho$ CŒma {H$gr EH$ {dH$În _| go Xr{OEü&

SECTION–A

I S>–A

1. Four geographical features with serial numbers (1) to (4) are marked on the

given Political Outline Map of the World. Identify these features with the help of

the following information and write their correct names in your answer-book

against each number : 1×4=4

(1) Lava Plateau; (2) Mountain; (3) An Area of Evergreen Rainforests and

(4) Grassland.

{XE JE gßgma Ho$ amOZ°{VH$ aoIm_mZ{MÃ _| Mma> ^m°Jmo{bH$ bjUm| H$mo gßª`m (1) go (4) VH$
{XIm`m J`m h°ü& BZ bjUm| H$mo {ZÂZ{b{IV OmZH$mar H$s _XX go nhMm{ZE Am°a CZHo$ ghr Zm_ AnZr 
CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IE :

(1) bmdm nR>ma; (2) nd©V; (3) gXmh[aV dfm© dZm| H$m EH$ joÃ VWm (4) Kmg^y{_ü&
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2. Four geographical features with serial numbers (1) to (4) are marked on the

given Political Outline Map of India. Identify these features with the help of the

following information and write their correct names in your answer-book

against each number : 1×4=4

(1) River; (2) Capital City; (3) Vegetation and (4) Hydel Power Station.

{XE JE ^maV Ho$ amOZ°{VH$ aoIm_mZ{MÃ _| Mma> ^m°Jmo{bH$ bjUm| H$mo gßª`m—(1) go (4) VH$
{XIm`m J`m h°ü& BZ bjUm| H$mo ZrMo Xr JB© OmZH$mar H$s _XX go nhMm{ZE Am°a CZHo$ ghr Zm_ AnZr 
CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IE :

(1) ZXr>; (2) amOYmZr eha; (3) dZÒn{V VWm (4) Ob{d⁄wV-e{∫$ Ho$›–ü&

3. State two main processes of heating the ocean waters. ½×2=1

_hmgmJar` Ob Ho$ J_© hmoZo H$s Xmo _wª` ‡{H´$`mE± ~VmBEü&

316/HSS/308A 5 [ P.T.O.



4. What do you understand by balance of trade? 1

Ï`mnma-g›VwbZ go Amn ä`m g_PVo h¢?

5. Mention any two major factors which determine the size and force of sea waves.

½×2=1

g_w–r VaßJm| Ho$ AmH$ma Am°a ~b H$mo {Z ß̀{ÃV H$aZo dmbo {H$›ht Xmo ‡_wI H$maH$m| H$m CÑoI H$s{OEü&

6. Why is the density of road low in the North-Eastern region of India? Give any

two reasons. 1

^maV Ho$ CŒma-nydu joÃ _| gãS>H$-KZÀd {dab ä`m| h°? H$moB© Xmo H$maU Xr{OEü&

7. State any two major causes of earthquakes. Give one example for each cause. 1+1=2

^yH$Ân AmZo Ho$ H$moB© Xmo ‡_wI H$maU ~VmBEü& ‡À òH$ H$maU H$m EH$ CXmhaU Xr{OEü&

8. Describe in brief any two social consequences of migration. 1×2=2

‡dmg Ho$ {H$›ht Xmo gm_m{OH$ n[aUm_m| H$m gßjon _| dU©Z H$s{OEü&

9. “The continental shelves are of great importance to man.” Support this

statement by giving any two arguments. 1×2=2

""_hm¤rnr` {Z_æ VQ> _ZwÓ`> Ho$ {bE ~h˛V _hÀdnyU© h¢ü&''> H$moB© Xmo VH©$ XoH$a Bg H$WZ H$s nw{Ô>
H$s{OEü&

10. Explain any four characteristics of red soil. ½×4=2

bmb _•Xm H$s {H$›ht Mma {deofVmAm| H$s Ï`mª`m H$s{OEü&

11. Explain the climatic diversity of India by giving any four examples. ½×4=2

^maV H$s Obdm ẁ gÂ~›Yr {d{dYVm H$s Ï`mª`m H$moB© Mma CXmhaU XoH$a H$s{OEü&

12. Define the term human geography. Mention any six subbranches of it. 1+3=4

_mZd ^yJmob e„X H$s n[a^mfm {b{IEü& BgH$s {H$›ht N>Ö CnemImAm| Ho$ Zm_ ~VmBEü&

13. Describe in brief the four facts which reflect the monsoonal unity in India.

1×4=4

^maV _| _mZgyZr EH$Vm H$mo ‡{V{~pÂ~V H$aZo dmbo {H$›ht Mma Vœ`m| H$m gßjon _| dU©Z H$s{OEü&
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14. Which layer of atmosphere is considered ideal for flying aircrafts? Explain any

three characteristics of it. 1+3=4

dm`ẁ mZm| H$mo CãS>mZo Ho$ {bE dm`w_ S>b H$s H$m°Z-gr naV AmXe© _mZr OmVr h°? BgH$s {H$›ht VrZ
{deofVmAm| H$s Ï`mª`m H$s{OEü&

15. “No other biome has undergone so much changes as the temperate grasslands

biome.” Support this statement with four suitable arguments. 1×4=4

""H$moB© A›` Ordmo_ BVZo n[adV©Z go Zht JwOam {OVZm {H$ erVmoÓU H${Q>~›Yr` Kmg^y{_ Ordmo_ü&'' Mma
Cn`w∫$ VH$m] ¤mam Bg H$WZ H$s nw{Ô> H$s{OEü&

16. Explain any six points of significance of water vapour for all kinds of life on

the earth. 1×6=6

n•œdr na {d{dY ‡H$ma Ho$ OrdZ Ho$ {bE ObdmÓn Ho$ _hŒd Ho$ {H$›ht N>Ö {~›XwAm| H$s Ï`mª`m
H$s{OEü&

17. Describe any six measures for soil conservation. 1×6=6

_•Xm-gßajU Ho$ {bE {H$›ht N>Ö Cnm`m| H$m dU©Z H$s{OEü&

18. What is meant by watershed development? Write any five benefits of watershed

development. 1+5=6

Obgß^a {dH$mg H$m ä`m AW© h°? Obgß^a {dH$mg Ho$ H$moB© nm±M bm^ {b{IEü&

19. Define cropping pattern. Explain any five features of changing crop pattern in

India. 1+5=6

\$gb ‡{VÍ$n H$mo n[a^m{fV H$s{OEü& ^maV _| n[ad{V©V \$gb ‡{VÍ$n H$s {H$›ht nm±M {deofVmAm| H$s
Ï`mª`m H$s{OEü&

20. When was National Rural Health Mission launched? Explain any five visions

envisaged in it. 1+5=6

amÔ¥>r` J´m_rU ÒdmÒœ` {_eZ H$mo H$~ ‡maß̂  {H$`m J`m Wm? Bg_| {dMmamW© {H$›ht nm±M —{Ô>H$moUm| H$s
Ï`mª`m H$s{OEü&
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SECTION–B

I S>ç~

OPTION–I / {dH$ÎnçI

( Local Area Planning )

( ÒWmZr` joÃ {Z`moOZ )

21. Mention any two merits of mode. 1×2=2

~h˛bH$ Ho$ H$moB© Xmo JwU ~VmBEü&

22. State any two uses of maps in local area planning. 1×2=2

ÒWmZr` joÃ {Z`moOZ _| _mZ{MÃm| Ho$ H$moB© Xmo Cn`moJ ~VmBEü&

23. “Climate dictate the overall pattern of vegetation in the hill village of

Rangdoom.” Support this statement with four examples. 1×4=4

""nhmãS>r Jm±d aßJXy_ _| dZÒn{V H$m gÂnyU© ‡mÍ$n Obdm ẁ ¤mam {ZX}{eV hmoVm h°ü&'' Mma CXmhaU XoH$a
Bg H$WZ H$s nw{Ô> H$s{OEü&

24. Suggest any four steps for the collection of secondary data. 1×4=4

{¤Vr`H$ Am±H$ãS>m| Ho$ EH$ÃrH$aU Ho$ {bE H$moB© Mma gmonmZ gwPmBEü&

OPTION–II / {dH$ÎnçII

( Geography of Tourism in India )

( ^maV _| n`©Q>Z-^yJmob )

21. Name four places of the highest order of the pilgrimage of Hindus

called ‘Dhams’. ½×4=2

{h›XwAm| Ho$ Mma n{dÃV_ VrW©ÒWb, {O›h| "Ym_' H$hm OmVm h°, Ho$ Zm_ {b{IEü&

22. Distinguish between tourist generating areas and tourist destination areas.

1+1=2

n ©̀Q>H$ g•{OV joÃ Am°a n ©̀Q>H$ J›VÏ` joÃ Ho$ ~rM A›Va ÒnÔ> H$s{OEü&

23. What is meant by a motel? Explain any three facilities provided by them to

the tourists. 1+3=4

_moQ>b H$m ä`m AW© h°? CZHo$ ¤mam n ©̀Q>H$m| H$mo Xr OmZo dmbr {H$›ht VrZ gw{dYmAm| H$s Ï`mª`m
H$s{OEü&

24. Analyse any four effects of mass tourism on local economy. 1×4=4

OZ-n ©̀Q>Z Ho$ ÒWmZr` AW©Ï`dÒWm na nãS>Zo dmbo {H$›ht Mma ‡^mdm| H$m {dÌbofU H$s{OEü&

H H H
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